22

)




- 22-2
W@\‘n(’n" VMNM ‘;Mw@.,f%. )
mdd"bf“ WMO.X)-QL ~ —5-\-@;.\7&

| W\.«.&’V\x, N) md (NX

>~ [D”’ matfad— orner s syage.

2 [o-n' unslohle < ¢bu rem

Lo s .

o Shell wiscosune

o feuw .
v Smell vomdihny pumbeon



actually make it work! recommend also putting semicolons

with unneeded numeric output
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puse = [1;4;7];
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See annotations along with code, made a few revision to actually make it work!  recommend also putting semicolons after most statement to prevent their cluttering up the screen with unneeded numeric output
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I found this worked better if position deltas and angle deltas were different:

for i=1:9
  delta(i)=1.0e-03
  end

for i=10:18
  delta(i)=1.0e-06
  end
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lam = - (ld(j) + lm(j)/60 ......

remember longitude is negative west of greenwich !!
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% end point loop
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we are assuming W = I
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